T1/Tio
T11
Ti2
L]
L]
JR 2003.2
L]
X5 XG X5
Xe Xs
EEEEEEEEEER :
Xs ’
20 20
u 11
10 10 B
3 3 3
0| 0| [N 0 I N
0 0
40-45 45-50 50-55 55-60 60-65 65-70 70-75
1 2 4




Xo1 Xoo /P

Xo1 60

P2

100

57

H12

3

1km2

40-45  45-50 50-55 55-60 60-65 65-70 70-75 75-80 80-85  85-90




Xa1 Xzo /P

Xz 60
Xs3-2 30
Ps
24
156
H11
80km/h
H12
1km?2
30 60
10 20
6 11
. 10 r 6
0 0 0 0 . : 0 0
0 ot 0
1 2 3 4

30 60




z XgaX Xaoo Dx D/D x «
X1 Xg
D km
km
a
h / h
- a
a 1
167 12
10
3 300km
e D
e« D
2

AB—

_ lioaB

f1-1A8

1208

0

1

o [

40-45

45-50

50-55

55-60

60-65

65-70

70-75

75-80  80-85

20

10




Xs
Ps

Xs/Ps

30




2 Xe

40-45  45-50 50-55 55-60 60-65 65-70 70-75 75-80 80-85  85-90

Xs
58 2002
57
1 4 H12
M N o p ] 60
CIwm
[ ] [ ] [ ]
CIwm
ML
10 20
6
10 8 8
2
2
1 1 1 1
, o [T o [ o [ o o L° S




2 S

S7 IC 10km ha
H14  10km
o 10km IC
IC  10km
IC 10
O n ]
Q
10 10

10 20
8
7
10 r 8 7
2 2
1 1
0 o o 0 0 0 |

40-45 45-50 50-55 55-60 60-65 65-70 70-75 75-80 80-85




Xs

Xs km

B i I el T L X o

A N - B
\ /
\ /
7/
\ -’
-~ =
i Dikm “
N D2km
D: D: Xs

20

10 | 8

2

35-40 40-45 45-50 50-55 55-60 60-65 65-70 70-75




Xo

Xo JCT
lor0
¢ JCT
¢ JICT
. lor0 JCT
1
2 20
- 13
10 | 10 N
6
o 0 0 0 O 0
40-45 45-50 50-55 55-60 60-65 0
1 2 3

JCT




Tio 10 h/

10

9 20
6
L 9
10 6
2 3 1
0 - 0 , 0 , 0 , 0 - 0 0 —Ii

40-45  45-50  50-55 55-60 60-65 65-70  70-75 75-80 80-85  85-90




NOy

NO,

> ani(vi)x Qui

a11(v) NOx
Qu

Qu

Vi

Vi

ani(V'i)x Q'ui

g/km

km/h

km/h

o NOx

NOx

H12

11



SPM

SPM

> bui(viz)x Quai bi(V'i2)x Q'1i

b12(V) SPM g/km

Qu

Q12

V1o km/h

V'12 km/h

* SPM

SPM

H12

12



Xi3

lor2

H14

13



CO,

co,

Y Cui(Vi)X Qui

g/km

km/h
km/h

Cui(V'1a)X Q’14i

H12

CO;

14



> Xis

Xis IC 60
o 60 IC
IC 60
L]
. 60
M N o 1C60
® ° o Ic 60
IC 60
IC 60
20 20
I 16
10 10
1 1 1 1 Y
o L® 0O /=—m ° " = " = © 0 — I
40-45 45-50 50-55 55-60 60-65 65-70 70-75 75-80 80-85 85-90 3 4

15



H16.3

12

H15
9,342km

16



